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let x 1 in

let y = 2 in
+

Ty

let £
f (£ 3)

(fun x -> x + 1) in

(let x 1 in
X + x)

+ 50

(fun x —> if x 1 then 2 else 3) 1

1 then 2 else 3) 10

(fun x —> if x
oooooooooooooon

let x=5 in
(let f=(fun y->x+y) in
let x=10 in
(f 20) + x * 2)

+ x * 3

let rec f = (fun x—>
if x=0 then 1



else x * £ (x-1)) in
(f 10)

gooooOooooooo
let £ = (fun x > fun y -> x + y) in

£f35

let £ = (fun x -> fun y -> x + y) in
(f 3) 5

let £ = (fun x -> fun y -> x + y) in
let g=f 3 in
(g B) + (g7

(fun £ -> £ (£ 3)) (fun x -> x + 1)

(fun £ => fun x > f (f x)) (funy >y + 1) 3
goooooooo
let £ = fun x -> (print x; 2) in

(funy >y +y+y) (£ 1

let £ = fun x -> (print x; 2) in
(funy > (y 1) + (y 1) + (y 1)) £

let f = fun x -> (print 1; 5) in
let g = fun x -> (print 2; 7) in
teg

00 (00)0000000

(1,2)

fst (1,true)

fst (snd (1, (true,3)))

(fun x => fun y -> ((x,y),(y,x))) 10 true

(fun x -> (fst x) ((snd x) 10))
((fun z -> 2z * 3), (fun y -> y + 2))
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